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Xl 30,000
= 30,000
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O ZAXH B2 ¥ 728 7Y 80,000
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O =didot 16,000,000& * 1H 16,000

_26_




S A oA Dt
HH: ueFMAYS
Ce: 2 EFAX L 2L (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 8,000
= 8,000
L2 4X8d9 125,000 125,000 0
Xl 100,000
= 25,000
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Xl 3,200
= 800
O Y X =z 11,000
— ===23F &Hl X 550,000& * 203 11,000
Xl 8,800
= 2,200
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O M=zxJlssd & s3HIMNA
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O MFxIIss8 ¥ sF3id 345,000 345
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AEAIS (Al 282 2) 172,728 184,877 AN 12,149
308 AMXISHMSOIA 172,728 184,877 AN 12,149
07 X SHH2AESZ 172,728 184,877 A 12,149
O HREEAY 29,064,000& * 2km 58,128
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MY 2H9 94,979 0 94,979
308 MXISHMSOIA 94,979 0 94,979
07 MHXSHH2AESZ 94,979 0 94,979
O =g & XN &It
94.,979,000& * 1CH 94,979
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